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Practice Paper C
Time: 1 hour 15 minutes

You must have: 


Ruler graduated in centimetres and millimetres, protractor, compasses,

pen, HB pencil, eraser. Tracing paper may be used.
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· Use black ink or ball-point pen. 

· Answer all questions.

· Answer the questions in the spaces provided 


– there may be more space than you need. 

· Calculators may be used.
· If your calculator does not have a (  button, take the value of (  to be 3.142 unless the question instructs otherwise.
Information

· The total mark for this paper is 60.

· The marks for each question are shown in brackets 
· use this as a guide as to how much time to spend on each question.

· Questions labelled with an asterisk (*) are ones where the quality of your written communication will be assessed 
· you should take particular care on these questions with your spelling, punctuation and grammar, as well as the clarity of expression.
Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question.

· Check your answers if you have time at the end.

This publication may be reproduced only in accordance with

Edexcel Limited copyright policy.

©2010 Edexcel Limited.

GCSE Mathematics 2MB01
Formulae: Higher Tier

You must not write on this formulae page.

Anything you write on this formulae page will gain NO credit.


Volume of prism = area of cross section × length     

Volume of sphere 
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Volume of cone πr2h

Surface area of sphere = 4πr2 


Curved surface area of cone = πrl
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In any triangle ABC 




The Quadratic Equation








The solutions of ax2+ bx + c = 0








where a ≠ 0, are given by
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[image: image5.wmf]a

ac

b

b

2

)

4

(

2

-

±

-


Sine Rule  
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Cosine Rule   a2 = b2+ c2– 2bc cos A

Area of triangle = 
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Answer ALL questions.

Write your answers in the spaces provided.

You must write down all stages in your working.
1.
Match each of the examples on the left correctly with the words on the right.


The first one has been done for you



3x + 2 = 11









expression



3x + 2









equation



P = 2(l + w)









formula



6f + 3g = 3(2f + g)



y²(y + 3)









identity



3p² + 4 = 13

(Total for Question 1 is 4 marks)

2.
Gerri has a kitchen unit.


Gerri measured the width of one of the 


drawers of the kitchen unit as 57 cm 


to the nearest cm.

(i)  
Write down the greatest measurement this could be.

…………….. cm


(ii)
Write down the least measurement this could be.

……….……. cm

(2)
(Total for Question 2 is 2 marks)

3.
Poppy wants to find out for how much time people use their computer.

She uses this question on a questionnaire.



(a)
Write down two things that are wrong with this question.





(2)
Poppy gives her questionnaire to all the students in her class.

Her sample is biased

(b)
Give one reason why.


(1)

(Total for Question 3 is 3 marks)

*4.
The graph shows the cost of using a mobile phone for one month on three different tariffs.
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Time used in minutes


The three tariffs are



Tariff A
Rental £15
 every minute costs 20p



Tariff B
Pay as you go
 every minute costs 45p



Tariff C
Rental £20
 first 60 minutes free then each minute costs
10p

(a) Label each line on the graph with the letter of their tariff.

(1)


Fiona uses her mobile phone for about 50 minutes each month.

(b) Explain which tariff would be the cheapest for her to use.

You must give the reasons for your answer.



(2)

(Total for Question 4 is 3 marks)

5.
Nik recorded the colour of each of 40 cars.


Information about her results is shown in the table.

	Car colour
	Frequency

	Blue
	10

	Red
	4

	Silver
	18

	Black
	6

	Green
	2


Represent this information in a suitable diagram or chart.

(Total for Question 5 is 4 marks)



6.
80 children went on a school trip.


35 of the children were boys.


They went to London, York or to a theme park.


10 boys and 15 girls went to London.


5 boys went to York.


25 of the children went to the theme park.

(a) Use this information to complete the two-way table.

	
	London
	York
	Theme Park
	Total

	Boys
	
	
	
	

	Girls
	
	
	
	

	Totals
	
	
	
	


(3)

One of the 80 children is to be chosen at random.

(b) What is the probability that this child went to London.

………………….

(2)

(Total for Question 6 is 5 marks)


7.
There are some sweets in a bag.


18 of the sweets are toffees.


12 of the sweets are mints.


(a)
Write down the ratio of the number of toffees to the number of mints.



Give your ratio in its simplest form.
………… : …………

(2)

There are some oranges and apples in a box.


The total number of oranges and apples is 54


The ratio of the number of oranges to the number of apples is 1 : 5


(b)
Work out the number of apples in the box.

……………….

(2)

(Total for Question 7 is 4 marks)
8.
Gulam and Alexi measured the heights of some wild grasses.
Here are their results
	Height (h cm)
	Frequency
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(a)
On the grid below draw a frequency polygon to show this information.


10
  8
frequency
  6
  4
  2
  0
      0                 5               10               15               20              25                30


height (cm)

(2)


(b)
In which group does the median height lie?

…………………………

(1)

(Total for Question 8 is 3 marks)

9.
Josh asked 30 adults how many cups of coffee they each drank yesterday.


The table shows his results.

	Number of cups
	Frequency
	

	0
	5
	

	1
	9
	

	2
	7
	


	3
	4
	

	4
	3
	

	5
	2
	


Work out the mean.

…………………

(Total for Question 9 is 3 marks)



*10.
The table shows some information about the lengths, in minutes, of 40 films.

	Time, T in minutes
	Frequency

	60 ≤ T < 80
	8

	80 ≤ T < 100
	12

	100 ≤ T < 120
	6

	120 ≤ T < 140
	14



One of the films is selected at random.


(a)
Find the probability that the length of the film is at least 120 minutes.

……………………..

(1)


The lengths of 8 of the films were from 60 to 80 minutes.


560 minutes is a sensible estimate for the total length of these 8 films
(b) Explain why



(1)

(Total for Question 10 is 2 marks)


11.
Toby invested £4500 for 3 years in a savings account.


He was paid 4% per annum simple interest.

(a)
How much interest did Toby receive?

£ ……………
(2)

Hajra invested £4500 for 3 years in a savings account.

He was paid 4% per annum compound interest.

(b)
How much more interest did Hajra receive than Toby?

£ ……………

(3)

Jaspir invested £2400 for n years in a savings account.

He was paid 7.5% per annum compound interest.

At the end of the n years he had £3445.51 in the savings account.

(c)
Work out the value of n.

…………….. years

(2)

(Total for Question 11 is 7 marks)

12.
258 students each study one of three languages.


The table shows information about these students.

	
	Language studied

	
	German
	French
	Spanish

	Male
	45
	52
	26

	Female
	25
	48
	62



A sample, stratified by the language studied and by gender, of 50 of the 258 students is taken.


(a)
Work out the number of male students studying Spanish in the sample.

………………

(2)


(b)
Work out the number of female students in the sample.

…………….

(2)

(Total for Question 12 is 4 marks)



*13.
John and Peter each own a garage.

They both sell used cars.

The box plots show some information about the prices of cars at their garages.



John’s garage


Peter’s garage
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Price (£)


(a)
Jean says 




“the car with the highest price in Peter’s garage is £8000”



She is wrong.



Explain why.



(1)

(c) 
Write down the median weight of the price of cars in John’s garage.

£ ……………….

(1)


(c)
Work out the interquartile range of the prices of the cars in Peter’s garage.

£ ……………….

(2)


There are 240 cars in Peter’s garage


(d)
Work out the number of cars with a price of £4000 or less.
……………………

(2)


(e)
Compare the distribution of the prices of cars in these two garages.



(2)

(Total for Question 13 is 8 marks)
14.
Nicola is going to travel from Swindon to London by train.


The probability that the train will be late leaving Swindon is  


If the train is late leaving Swindon, the probability that it will arrive late in London is 


If the train is not late leaving Swindon then the probability that 

it will arrive late in London is  


(a)
Complete the probability tree diagram.





leaves Swindon


arrives in London










late

                       




late










not late













late

                                                 .......................






not late











not late

(2)

(b)
Work out the probability that Nicola will arrive late in London.

………………….

(3)

(Total for Question 14 is 5 marks)

15.
The table shows some information about the weights of some packets of crisps.

	Length (w grams)
	Frequency

	20 < w ≤ 25
	4

	25 < w ≤ 35
	12

	35 < w ≤ 45
	14

	45 < w ≤ 50
	8

	50 < w ≤ 70
	6



Use the information in the table to draw a histogram.


Frequency

density



 10
       20

  30
         40               50
           60
      70





Weight (w grams)
(Total for Question 15 is 3 marks)

TOTAL FOR PAPER is 60 MARKS
For how much time do you use your computer?














0 – 1 hours	1 – 2 hours	2 – 3 hours	3 – 4 hours 	4 – 5 hours	5 – 6 hours
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